
A5014 O-Rings for Shock Cartridge ................................................... $1.99
A5015 Double O-Ring Shock Cartridge ............................................. $2.00
A5046 Shock Pistons, Teflon™ #56 (Red) (4) ................................... $3.00
A5049 Shock Adjusting Nuts with O-Rings, Aluminum .................... $7.00
A5055 .9” Threaded Shock Body Set with Nuts ............................... $19.95
A5056 1.2” Threaded Shock Body Set with Nuts ............................. $19.95
A5062 1.2” Titanium Nitrided Shock Shaft ........................................ $7.00
A5064 1.0” Titanium Nitrided Shock Shaft ........................................ $7.00
A5079 Shock Ends & Cups ................................................................. $4.00
A5152 2.5” Spring, 2.6 Rate (Red) ..................................................... $2.50
A5224 Team Losi Certified Shock Fluid, 30wt. ................................. $3.50
A6000 Ball Studs w/Rod Ends, 4-40 x 3/8” (4) .................................. $3.50
A6001 Ball Studs w/Rod Ends, 4-40 x 3/16” (4) ................................ $3.50
A6003 Foam Things (Linkage Rings) (24) ......................................... $1.50
A6006 Ball Studs w/Rod Ends, 4-40 x 1/4” (4) .................................. $3.50
A6007 Ball Studs w/Ends (Short Neck), 4-40 x 3/8” (4) .................... $3.50
A6015 Rod Ends, Super-Duty (12) ..................................................... $6.00
A6030 Assembly Wrench (Version 2) ................................................. $1.50
A6086 Hinge Pins, 1/8” x .960”, Titanium Nitrided ........................... $7.00
A6088 Hinge Pins, 1/8” x 1.25”, Titanium Nitrided ........................... $7.00
A6089 Hinge Pins, 1/8” x 1.42”, Titanium Nitrided ........................... $7.00
A6094 Hinge Pins, 1/8” x 2.125”, Titanium Nitrided ......................... $7.00
A6100 E-Clips, 1/8” ............................................................................ $1.25
A6204 4-40 x 1/2” Cap-Head Screws (10) ......................................... $1.50
A6206 4-40 x 3/8” Cap-Head Screws (10) ......................................... $1.50
A6210 4-40 x 3/8” Flat-Head Screws (10) ......................................... $1.50
A6212 4-40 x 1/8” Button-Head Screws (4) ....................................... $1.25
A6215 Washers, #4 Narrow (10) ......................................................... $1.25
A6216 4-40 x 7/8” Cap-Head Screws (10) ......................................... $1.50
A6220 4-40 x 1/2” Flat-Head Screws (6) ............................................ $1.50
A6223 4-40 x 1” Cap-Head Screws (6) .............................................. $2.00
A6226 4-40 x 7/8” Flat-Head Screws (6) ............................................ $2.00
A6228 Hardened Set Screws, 5-40 x 1/8” (10) ................................... $1.80
A6230 Shim Set, 3/16”, 1/4”, 1/2” ...................................................... $2.50
A6233 4-40 x 5/8” Flat-Head Screws (10) ......................................... $2.50
A6238 3mm x 6mm Motor Screw Kit ................................................. $3.00
A6245 4-40 x 5/16” Button Head Screws (10) ................................... $2.00
A6265 Threaded Chassis Inserts - Short ............................................. $6.00
A6300 4-40 Hex Nuts (10) .................................................................. $1.00
A6303 10-32 Low Profile Aluminum Lock Nuts ................................ $1.25
A6305 4-40 Aluminum Lock Nuts, Low Profile (10) ......................... $3.50

A0076 XXX-T Matt Francis Special Edition 2 ........................................
A1025 Truck Front Axles, Aluminum ................................................ $6.00
A1126 Spindles & Carriers - VLA ..................................................... $5.00
A1146 Front Outer & King Pins, 3/32” x .930” ................................ $3.00
A1610 Steering Hardware Set ............................................................ $3.50
A1615 Short Ball Cups and Threaded Rod ........................................ $2.75
A1620 Steering/Servo Mount Assembly ............................................ $6.00
A2123 Rear Hubs - VLA - 3 Hole ...................................................... $4.00
A2127 Hub Spacers (.060”) ............................................................... $2.50
A2216 Spacers (1/8” x .050”) ............................................................ $2.50
A2911 One-Piece Diff Nut/Carrier .................................................... $3.50
A2933 Differential Screw, Hardware, and Seal ................................. $4.50
A2935 Outdrive Cup/Diff Half Set .................................................. $13.95
A2937 Idler Gear, 32 Teeth & Shaft ................................................... $2.50
A2938 Transmission Case Set and Spacer ......................................... $6.00
A2940 Transmission Screw Set .......................................................... $2.50
A2941 Motor Plate, Machined ......................................................... $10.00
A2943 Gear Cover with Access Plug ................................................. $3.00
A3027 Universal Bearing Cross, Rebuildable ................................... $6.00
A3031 Offset Rear Axle, .100” .......................................................... $6.00
A3045 Slipper Gear Cover Plug ......................................................... $1.50
A3065 Differential Grease, Silicone (Clear) ...................................... $2.50
A3066 Assembly Grease .................................................................... $2.50
A3070 Transmission Diff Rings ......................................................... $2.00
A3074 Transmission Diff Gear, 46 Teeth ........................................... $2.00
A3083 Yoke and Screw for Dogbone ................................................. $3.50
A3099 Thrust Bearing Set .................................................................. $5.00
A3123 Slipper Pad ............................................................................. $3.00
A3124 Slipper Spring, Cup, Spacer, Bushing, and Washer ............... $3.00
A3132 Slipper Backing Plate ............................................................. $6.00
A3987 Spur Gear, 86T 48-Pitch Kevlar® .......................................... $4.00
A4002 Antenna Kit ............................................................................ $2.25
A4003 Antenna Caps (8) .................................................................... $1.25
A4004 Servo Tape (6”) ....................................................................... $1.75
A4015 Foam Battery Block ................................................................ $2.50
A4123 Motor Guard, & Body Mounts (Black) .................................. $5.50
A4127 Rear Pivot Mount, Forward .................................................... $3.50
A4128 Rear Pivot Mount - Aluminum ............................................... $9.85
A4129 Pivot Block, Front .................................................................. $3.00
A4131 Front Bumper ......................................................................... $2.50
A5013 Front and Rear Upper Shock Mount Bushings ...................... $3.00

TEAM LOSI PERFORMANCE THE CHOICE OF CHAMPIONS

PRICE LIST/
EXPLODED VIEW
©2004 Team Losi A Division of Horizon Hobby Inc.                            Not Responsible for Typographical Errors                 Prices Subject to Change Without Notice

Effective:5/1/2004

P/N: 800-0222



A6306 4-40 Aluminum Mini Nuts (10) .............................................. $3.50
A6350 #4 & 1/8” Hardened Washers (24) .......................................... $2.50
A6401 Roll Pin - Wheels and Gears (6) .............................................. $1.25
A6407 Solid U-Joint Pins & Set Screws ............................................. $3.50
A6903 3/16” x 3/8” Teflon™ Sealed Bearings (2) ............................. $5.50
A6907 5mm x 8mm Bearings (2) ........................................................ $6.50
A6908 1/2” x 3/4” Teflon™ Sealed Bearings (2) ............................. $13.50
A6909 1/8” x 3/8” Ball Bearings & Idler Shaft .................................. $6.00
A6912 3/32” x 3/16” Bearings for Steering (4) ................................ $19.95
A6951 3/32” Carbide Diff Balls (12) ................................................ $10.95
A7055 Front Solid-Face Truck Wheels - Yellow ................................ $6.50
A7155 Rear Solid-Face Truck Wheels - Yellow ................................. $6.50
A7507R Front 8-Rib Truck Tire w/Foam (Red) .................................. $17.95

A7637R Rear King Pin Truck Tire w/Foam (Red) .............................. $17.95
A7698 Truck Foam Liners - Firm ....................................................... $3.50
A8028 MF2 Body & Spoiler ............................................................. $19.00
A8200 Body Clips (12) ....................................................................... $1.25
A8356 XXX-T MF2 Sticker Sheet ...................................................... $4.00
A9606 Battery Box Insulation Tape (Die cut) ..................................... $5.50
A9712 Graphite Front Suspension Arms - VLA ............................... $12.00
A9713 Front Kickplate, Bulkhead, and Steering - Graphite ............. $16.00
A9722 Front Shock Tower, Graphite .................................................. $9.95
A9812 Rear Suspension Arms - VLA, Graphite ............................... $13.95
A9822 Rear Shock Tower, Graphite .................................................. $11.50
A9833 Rear Pivot Plate, Graphite ....................................................... $6.50
A9906 Main Chassis and Brace, Graphite ........................................ $47.50

A6015

A6306
A6350

A1126
A6228
A2216
A1126

A1025
A6000

A6903
A9942A6100

A6100
A9712

A6086A6226

A6233

A4131

A6100

A6210

A9956

A6089
A4129

A9713

A6015

A1620
A6001
A1620

A6306
A1620

A6265

A1610 A9906

A1620
A6001

A4002A1610

A1615

A1615

A9713

A6206
A4003

A1146

A1610
A1620

A6306

A6206

A6215
A6006

A6206
A6350

A6206

A1620
A4015

A8200

A6216

A6306

A4123
A6300

A5013

A6305

A6220
A8200

A6003
A6000

A9713

A6206

A9722

A99

A9911

A9911

A6305
A5

A6206

A6912

A1620

A6215

A6206

A6088
A6007

A6003

A5015

A5079

A6204

A5079

A5015

A5064

A6100

A5049

A5152

A5046

A9940

A5055



A9911 Battery Strap, Pad and Foam Block ........................................ $6.00
A9932 Aluminum Gear/Slipper Shaft, 18 Teeth ............................... $11.95
A9940 Aluminum Hard Anodized Suspension Balls .......................... $3.95
A9942 Bearing Spacer & Wheel Washer Set ...................................... $8.95
A9956 Aluminum Hard Anodized Front Hinge Pin Brace ................. $3.50

906

A7507R
A7055

A9822
A6215

A6204

013
A6300

A6216
A8200

A6215
A2940

A4127

A4127

A9833

A6210

A6220

A6210

A6407
A6206

A3083

A2127
A6100

A6407

A3027
A3031

A6003
A6007

A6903

A2123
A6903

A9942

A6903
A6230

A6303

A6303

A6401

A9942

A6306

A6088

A7637R
A7155

A4128

A6094

A6015

A9812

A3091

A4123

A6245

A6003

A6007

A9940

A5079

A5015

A5062

A5056

A5049

A5079

A5152

A6204

A6100

A5046A9606

A2943
A6212

A6350

A6238

A3045



A3927 90-Tooth, 48 Pitch Spur Gear .................................................. $3.50
A3928 88-Tooth, 48 Pitch Spur Gear .................................................. $3.50
A5043 Shock Pistons #60 (Natural) Teflon™ .................................... $3.00
A5045 Shock Pistons #57 (Black) Teflon™ ....................................... $3.00
A5047 Shock Pistons #55 (Orange) Teflon™ ..................................... $3.00
A5048 Shock Pistons #54 (Blue) Teflon™ ......................................... $3.00
A5146 2.75” spring 1.6 Rate (Grey) ................................................... $2.50
A5147 2.75” Spring 1.8 Rate (White) ................................................. $2.50
A5150 2.5” Spring 2.3 Rate (Pink) ..................................................... $2.50
A5154 2.5” Spring 2.9 Rate (Orange) ................................................. $2.50
A5156 2.5” Spring 3.4 Rate (Silver) ................................................... $2.50
A5158 2.5” Spring 3.7 Rate (Green) ................................................... $2.50
A5160 2.5” Spring 4.1 Rate (Blue) ..................................................... $2.50
A5212 Certified Shock Fluid 17.5wt. ................................................. $3.50
A5213 Certified Shock Fluid 22.5wt. ................................................. $3.50
A5214 Certified Shock Fluid 27.5wt. ................................................. $3.50
A5215 Certified Shock Fluid 32.5wt. ................................................. $3.50

A5216 Certified Shock Fluid 37.5wt. ................................................. $3.50
A5218 Certified Shock Fluid 45wt. .................................................... $3.50
A5221 Certified Shock Fluid 15wt. .................................................... $3.50
A5222 Certified Shock Fluid 20wt. .................................................... $3.50
A5223 Certified Shock Fluid 25wt. .................................................... $3.50
A5225 Certified Shock Fluid 35wt. .................................................... $3.50
A5226 Certified Shock Fluid 40wt. .................................................... $3.50
A7880 Team Losi Tire Glue ................................................................ $7.50
A7881 Team Losi Tire Glue - Thin ..................................................... $7.50
A7884 Tire Gluing Kit, Off-Road ....................................................... $9.95
A9605 Chassis Protection Material ..................................................... $9.00
A9945 Titanium Ball Studs w/Hex in Head .188 ................................ $9.00
A9946 Titanium Ball Studs w/Hex in Head .250 ................................ $9.00
A9947 Titanium Ball Studs w/Hex in Head .380 ................................ $9.00
A9948 Titanium Ball Studs w/Hex in Head (Short Neck) .250 .......... $9.00
A9949 Titanium Ball Studs w/Hex in Head (Short Neck) .375 .......... $9.00
A99170 Shock Matching Tool ............................................................ $29.99

A2940

A2940
A2938

A2933

A3099

A2933

A2933

A2935
A3070

A6951

A3074

A6907

A2935

A6908
A2938

A-6206

A6903
A9932

A2938

A9932

A2941

A6903

A6909

A3987
A3123

A3132A3124
A6305

A2937

A6909

A2937A2911
A2933

Team Losi, A Division of Horizon Hobby inc.,
4710 East Guasti Rd., Ontario CA 91761

Phone: (909) 390-9595 / Fax: (909) 390-5356
(web) www.TeamLosi.com / (email) feedback@TeamLosi.com

Optional Parts for XXX-T MF2 Francis Edition


